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1. Inreal GDP calculation, we have -

(1) Constant prices
(2) Current prices

-

(3) Ratio of Constant and Current prices

(4) All of the above

2. Marginal revenue is equal to the change - 2.

@

@)

()

@

in price divided by the change in

output

price

output

searcher

in quantity divided by the change in

im PxQ due to a one unit change in

price but only if the firm is a price

3. Fisher’s ideal index number qualifies which of 3.

the following test?

@
@)
Q)
@

Only time reversal test

Only factor reversal test

None of the above

Both time and factor reversal test

4. Stractural reforms and stabilization measures 4.

JRAMAD el TNE SIS B 91 H & —
() fer Fd

(2) URadTEE B

@) Rer 7 gRexieiia S I Agard
@) SRE 99

Srre A IReds & SR § -

(1) ST F Y YR SR H gReis
(2) SeET § §¢ 9N HFd H gNaad

(3) PxQ ¥ uRe s Wi 5 ufy s&E
Seares A qRadT ¥ &

@) T A AfpT 9w B wH B
T &l

e @1 aned Edie = T 4§ B
b IR TR Savar 87

(1) I GHT SRl GRIET

(2) I TG SR IET

(3) T YTF 9 T Sopraal YRIeE
@ SR H | s A A
WRED GuUR a Rerfiever sug S

are the two groups of which policy? e iy & |4 &
(1) New Economic Policy (1 3 anidis Aif
(2) Monetary Policy ) it Ny
(3) Trade Policy (3) R SRy
(4) Fiscal Policy @) oS S
5.  Match the following — 5. oo oikm —
A. Gypsum I Jhamar Kotra A Ry=s 1 SR died
B. Copper I  Rampura B. wigR (afar 0 <Y SR
Agucha c o S i ) -
C. RockPhosphate III  Khetri i m ;
D. Lead-Zinc IV Jamsar D. W — ol IV SR
A B C D A B C D
(1) m I v I (1) uI I v i}
2 v I I i 2 v I I i}
(3) m v I I (3) M v 1} I
@ 1 it I v @ 1 I I v
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10.

Quantity demanded changes by a smaller 6.
percentage than does price then elasticity of
demand will be -

(1) perfectly elastice =

(2) inelasticO<e< 1

(3) elastice=1

(4) perfectly inelastice =0

Mr. X is a farmer who grows food grains in his 7.
one acre of land. His village has 50 small
farmers. If you are interested in knowing the
economic conditions of small farmers and you
want to compare the economic condition of
Mr. X in his village.
If you see the land of Mr. X is above average in
ordinary size then which measure of tendency
is used as a tool?
(1) Arithmetic mean
(2) Median
(3) Mode
(4) Correlation
The cost curve never takes ‘U’ shape - 8.
(1) Short run average cost curve
(2) Long term average cost curve
(3) Average variable cost curve
(4) Average fixed cost curve

Contraction of demand is the result of - 9.
(1) decrease in the number of consumers
(2) increase in the price of the good
concermned
(3) increase in the prices of the other
goods
(4) decrease in the income of purchasers

In statistical modelling ................ isasetof 10.

statistical processes for estimating the

relationships between a dependent variable and
one or more independent variables.

.(1) Regression analysis

(2) Measures of variation

(3) Correlation coefficient

(4) Measures of central tendency

|l 1€ = ¥ e B o § B9 i
Red= 8, O A4RT &Y < 8rft —

(1) PielERRe=o
(2) T O0<e<1
B) dWERe=1

)] T’fa?ﬁ_ﬂe=0

M X Tp fbEF &, ST o TF The A
W IS ST B SED g A 50 B
fam g1 9} e &t X ok s ®BR
f&arT o1 anfiew Rerfy & gervm o =msa
g1 afe oy s § 5 o X 9 9 wmEe
¥ o g A B, o1 ug o © ol e

Al Su UgRT BT A U SR & w9
SEHTA BRP SIFAI?

(1) FEFR Ay

(2), HAg®T

(3) sgIP

@) aEaEw

EINCECER G i | G o
(1) Y@ AT g 9%

) <rEfereiF oivd @rrg 9%

(3) <irad aRad=eiel @R 9%
@ s Rer aFE 9%

AT T A aRkomg & —

(1) SIS @ Hear § w

2) 9 9%y & A H Iy

() oy axgEl B Al F gy
@) HIHaRl B AW BT Hed

RS  Hed A e Th

(1) v fRgeyor
) fue= &1 91w
) EHSH TUie
@ = vk W
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11. Which theory has its'roots in Game of Chance  11.

and Mathematics?
(1) Theory of Relativity
(2) Theory of International Trade
(3) Probability Theory
(4) Lewis Theory

12. Trade protectionism is the - 12.
(1) economic policy of restricting imports
from other countries through methods
such as tariffs on imported goods
(2) economic policy of restricting exports
(3) economic policy .of, prohibiting
investment :
(4) economic policy ‘of ericouraging

. > ERd
1mports

B PY

13. During the derivation of IS curve, the first part  13.

is - )
(1) Investment function that shows
positive relationship ‘ between
investment and the rate of interest
(2) Investient function that shows inverse
relationship between investment and
the rate of interest
(3) Savings function

(4 Demand function

14. Ricardian Theory of Comparative Advantage 14.

was presented in the followingform in 1936 -
(1) Absolute advantage theory
(2) H-O theory
(3) Opportunity cost theory
(4) Reciprocal demand theory

B 9 Rigia 9arT R TR @ ¥ W

ImEnfRa 87

Q) e & Rigid

(2) SRR AR & Rl

(3) wwrET B Rigia

@ zu R

YN EREVER § —

1) TRl ™ SR s TFmeR
A= <o 9 B et
B P ey A

(2) T o ufef s 3 e
e

@) Frw iy s o el il

(@) =T P aned B o anffe
ifr

IS b Pl eI~ HR TR UL 1T & —

(1) RfEr som o % [T 9 9~
=X § g Hay ueiRia oAl 8

(2) fafaEn wom o 7% faferr 9 =~
=< ¥ g deu weliq @xar &

(3) 9Ed FBaIT

@) T B

Wmmﬁaﬂ%ﬁﬂﬁ@ﬁl%éﬁ.

59 W9 ¥ Ta far @ —

@O g o a1 Rk

(2) H-O R&gia

(3) TR TF BT fogia

() IS AN BT R

11- §

Page 4 of 32




15. Desire to have a commodity backed by 15. TS fif¥aw wwag ) < 1€ Fwg w
willingness and ability to purchase that e I TR B 50T AN TGP BT o
commodity at given price at a point of time is - @I $TOT g &l BeEaldl B —

(1) Supply @ g
@) Utility 2) SwfE
(4) Elasticity @

16. Oligopolistic industries in a kinked demand 16, seURPR S § Aiega W am. §

curve model assumes, that - =T €, R —
(1) response to a price increase is less than (1) @HFq gem ¥ uRifpar @9
the response to a price decrease Sﬁ&ﬂﬁ BT DA ST DY Affshar
(2) response to a price increase is more
than the response to a price decrease ) "T’ﬂ“ﬁ sgM i wlafear afe §
(3) elasticity of demand is constant gﬁm a§|1|a| P B B FRbET
regardless of whether price increases
of decreases @ AT @ %
;. price 1o pertectly @ W w3 ¥ e
inelastic if price decreases ey 1)
17. Match the correct pairs — 17. W& @i & e difR —
(a) Visual non — (@) Films (@) ST smafia @) oo
projected aid ERE Al o
() Visual () Black Board ®) E:WH E'Wi T @
projected aid (c) frais (i) @m
© Activity aid (i) Globe HERIE ARl
(@ Visual aid (iv) Exhibition @ FEwERmD (@) e
Rt
a b c d a b © d
1) ii iv i i (1) iii iv i i
2 i iv i iii 2) it iv i iii
(3) iii i iv ii (3 iii i iv i
@ i i iv i @ i i dv
18. The first Psychologist who devoted much of his ~ 18. ﬁﬂﬁﬂw R STl UHY BN H SIUAT
time in coI!ectmg data on Adolenscence was - TR o —
(1) Froebel D) W
(@) Ziller 2) R X ~
(3) Pavlov 3) el
(4) Stanley Hall @) el g
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19. Hecksher-Ohlin Theory says that - 19.

(1) where labour relatively plenty, will be
replaced by capital goods

(2) where labour is relatively plentiful,
will tend to export labour intensive
products

(3) where capital is relatively scarce, will
export capital intensive products

(4) None of these

20. Which of the following is not a function of 20.

Commercial Bank?
(1) Receipts of deposits
(2) Lending of money
(3) Agency services
(4) Issuing of cuirency

21. “Educational Psychology is the study of 21.

Psychological ~ aspects of  educational
situations.” This definition is given by -

(1) Alice Crow

(2) Skinner

(3) Stephen

(4) Trow

22. Suppose the monthly income in rupees of six ~ 22.

families is given as 1600, 1500, 1400, 1525,
1625 and 1632.
The mean family income is -

(1) 1647

) 1747

(3) 1547

(4) 1000

23. Liberalisation refers to - 23,

(1) slackening of Government regulations

(2) strengthening of Government
regulation

(3) more controls in trade

(4) more restrictions in exports

tmRR—3eler Rigia dear e, 6 — ¢

V) e 5w e § ag Yol awel
ggol & IRit

(2) <& ¥H onerpa IRF T OGE
AT awgell a1 g e

(3) & Yot ToM & I8 YeirTed awgel
BT TG FERIAI

@) T 9 P TE

2R d& B = # ¥ SR Tl & -

(1) ERT B urwdl

(2) 9 BT < 9eR SEUR W

(3) TR A

@) g1 @1

“REm TEiEeE dafe aRReREl @
TaSE GRl T 3RIAE 217 A gRwmT
fraar 82

(1) e @l

() IR

3 oA

@ @

T 5 uiHE Y & B IR B e
yeR § 3udl § & — 1600, 1500, 1400, 1525,
1625 3T 1632

gRaRT &1 i T gl —

(1) 1647

(2) 1747

(3) 1547

@ 1000

SENIBRYT HT AT & —

1) TN e e

(2 N el 3 w0

(3) TUR R ARG HEH

@ g = afte FEm
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26.

27.

25.

The variable that links the market for goodsand 24,

services and the market for real money
balances in the IS-LM model is the -

(1) consumption function

(2) interest rate

(3) price level

(4) nominal money supply

The cost of one thing in terms of the alternative 25,

given up is -
(1) Average fixed cost
(2) Total cost
(3) Opportunity cost
(4) Marginal cost

Total utility is maximum, when - 26.

(1) marginal utility is zero
(2) marginal utility is at its highest point

(3) marginal utility is equal to average
utility

(4) average utility is maximum

Welfare economics is a branch of economics 27.

that uses .............. techniques to evaluate
welfare at the aggregate level.

(1) Macro economics

(2) Micro economics

(3) Positive economics

(4) Supply side economics

Which of the following is Broad money? 28.

@O M
2 M
3 M
@ M

BT W ¥ S IS-LM Aisd @ =wid
AR TFT BT SISl &7

(1) SUYHFT B

(2) & B T

() T ®R

@) sifea a1 gfd

ocy & w7 § W B AT —

(1) iraa fer arm

() FF arFTa

() IR AN

4) HH=T IR

Rl SUAIRT Afread R 8, 59 —

(1) =T Sy I |

(2) €T SwIRT o affeaH fasg
o B

(3) WMrFd SYIIRET S STl @
A B

(@) g ST aftead &

BT FU, AfATA P 98 U &,

% HeamT BT T WR R [eid e 2

@ gf vt e
FrefoRa 4 9 oW @ fawga ga7 87
1O M
2 M
3 Ms
4 M
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29. Generally the largest component of aggregate  29.
demand is -
(1) Consumption expenditure
(2) Investment
(3) Savings
@) Tax

30. Spearman’s Rank Correlation Coefficient 30.
formula -

62.d;”
n{n?— 1)

6%d;*

n(n? —1)
_1- 63.d;’

n(n? - 1)
1+6Zd2

n(n? - 1)

1 P=1l+—Fs—07

2 pP=1-

&)

@

31. Match the following - 31.

A. Freedom of 1. Communist
enterprise Economy

B. Equitabie 2. Capitalist
distribution of Economy
wealth

C. Capitalisminthe 3. Mixed
oxygen tent Economy

D. Publicownership 4. Socialist

of resources Economy
A B C D

@m 1 2 3 4

2) 2 1 3 4

3 3 2 1 4

4 4 3 2 1

AR T AT BT 949§ HSh Bl

3
@)
)
3)
@

Wi @ P He—a Y NP BT G

g —

@)
@)
3)

@

SUHIET I

e
CEE]
L

P=1+

P=1-

63d;>
n(n? — 1)

6>d;”

amz—1)

_1-6%d’
" n(nZ-1)

1+6Zd2

n(n2

e &= —

A.

@D
@
)
@

1

SEH 9 WaIal

TYRY BT FTAH

ooy

il dg §
Yofrard
HHEEL BT

RSICIIE G

A

W =

W N =

1)

et

Feieaen
.

refeyaven

apefeaver

L o i v |
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32. Match the following —

33.

34.

35.

1. Adam Smith A. Comparative
Advantage
Theory

2. 1S.Mill B. Absolute
Advantage
Theory

3. Ricardo C. Reciprocal
Demand Theory

4.  Haberler D. Opportunity
Cost Theory

1 2 3 4

M@ B D A C

2) B A C D

3 B C A D

4 C D A B

The rules of probability for any event A is —

1) 0<sPQ)=s1

2 0zPA)=1

3 0=PA)=1

@ 0<PA)<1
All of the following are characteristics of a
monopoly, except -

(1) there is a single firm

(2) the firm produces a unique product

(3) existence of price discrimination

(4) there is a single buyer

Goal of sustainable development is-
(3] Quality education
(if)  Zero hunger
(iii) Clean water and sanitation
(iv)  Reduced inequality
Choose the correct option -
(1) only (i) and (ii)
(2) only (1), (ii) and (iii)
3 @, (), (iid), (iv)
(4) only (ii) and (iii)

32.

33.

34.

35.

e B — - -
1. weH Ry A,  GorIHD
N @l
Regia
2. wiww @ B,  fRueg @™
CANTEAR]
3. Rerel C. Tgwpd |0
Rrgia
4, BIGR D. 3R
EINE]
fgia
1 2 3 4
1 B D A C
2 B A C D
(3) B C A D
4 C D A B

T & Rigid & fAum T o sae A
¥ forg —

(1) 0<PA)<1

2 ozPA)=1

3) 0=PA)=1

@4 0<PA)<1

1 A o TEIteR @ wer § U B
AT —

D wFEHHH

(2) wH ST SR Pl

B T g @ wwTa

@ TS & war

aRoiT e o oeu g g —

O o ol R

() IR HW BRI

(i) Yg el g9 Wl
(iv) SR ® Pl
HEl T P TG DAY —

@) Paad) 3R (i)
(2) Bad (i), (ii) 3 (i)
3 @), (i), (i), (iv)
@) BT () IR (iid)

11- @
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\

36. Examples of stock are - 36.

37.

38.

39.

40.

41.

(1) savings, investment, income
(2) national income, savings

(3) investment
supply,

(4) money foreign exchange

TESCIVES

As per Agriculture Census 2015-16, total 37.

number of female operational land holdings in
the state of Rajasthan was ..................

(1) 6.70 Lakhs

(2) 8.50 Lakhs

(3) 7.75 Lakhs

(4) 6.65 Lakhs

Free trade policy states - 38.

(1) only domestic trade

(2) only domestic plus international trade

(3) complete unrestrained international
exchange plus no barriers to movement
of goods

(4) Ali of the above

GST was first implemented as a Tax Regime  39.

in -
(1) India 1954
(2) France 1954
(3) Australia 1954
(4) India 2017

High power money includes - 40.

(1) only bank reserves

(2) only currency

(3) only paper money

(4) all of physical paper and coin currency
in circulation + bank reserves held by
the Central Bank

Which one of the following is not a product of  41.

learning?
(1) Maturation
(2) Attitude
(3) Concept
(4) Skill

wiF P ST & —

1) =g, P, o

() TS S, g

(3) faw

@) Te1 g, ReE gom B

o Ood H B O 2015-16 B

IR, FHol AR wEed 4 wal @

e . Bl

(1) 6.70 &=

(2) 850w

(3) 175@=

@) 6.657/

qUq MR AT garh & —

T ) daw @R TR

(2) Haa @l gd FRNISE g

@ gl mftefm g @ awgel &
3T B 9 M 9 A Big AP T

@) SREg T

GST &%l Gdued Th $X awell & &I |

JRY fopar =Y

(1) 9RT 1954 4

(2) Wi 1954 #

(3) aifeferm 1954 #

@) 9 2017 #

S Wi et A Wit & —

(1) @9a 56 B

(2) Dad B!

(3) @ad HFEN &l

@) TG e YR gET Nl T |
+ 9% oY o 6 U

FrefaRead & ¥ Simm AR &1 SUg Tol
7?7

1 uRuggar

(2) - SR

3) =

@ DI
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42.

43.

44.

45,

46.

Problem of choice in an Ecenomy is solved 42,
through -

(1) Isocost curve

(2) Marginal cost curve

(3) Short run average cost curve

(4) Production possibility curve

The correct sequence of 5 E’s in constructivist 43,
approach is -
(1) Explore, Engage, Elaborate, Explain,
Evaluation
(2) Engage, Explore, Elaborate, Explain,
Evaluation
(3) Engage, Explore, Explain, Elaborate,
Evaluation
(4 Engage, Explore, Evaluation, Explain,
Elaborate
According to Piaget, cognitive development in  44.
human beings has four important stages. The
correct order of these stages are -
(1) Pre - Operational — Formal

Operational — Concrete Operational
—> Sensory Motor

(2) Sensory Motor — Pre - Operational —
Formal Operational — Concrete
Operational

(3} Formal Operational — Pre -
Operational — Concrete Operational
— Sensory Motor

(4) Sensory Motor — Pre - Operational —
Concrete  Operational — Formal
Operational

When a monetary authority uses its procedures  45.
to stimulate the economy, then it is -

(1) Contractionary monetary policy

(2) Expansionary monetary policy

(3) Fiscal policy

(4) None of these *

The two indifference curves cannot intersect  46.

each other, because -

(1) their satisfaction level is zero

(2) their slopes are same

(3) they represent the same level of
satisfaction

{(4) the two indifference curves cannot
represent the same level of satisfaction

TP daaeen ¥ 999 P TR BT GHEI
s argg 9 g 87

(1) <9 IF G 9%

2) HHT SFTG 95

(3) BN T oG 9P

(4) STUIGH I™EAT I5F

TS SUNH § 55— o USl 3 & —

1) @, G, AR, e, qeiey
(2) Her, G, R, e, oo
H

() T, Giv, =], R, qeie
@) o, ©ie, Jeuic, sare, fRar

LEEL

O wpaee —  sivERe
dfbarre — qd Gk -
e |

2 " > e —
divaiRe  wfhaee — T
Sfsharts

@)  suelRe GG -
q—fshard — Hqi sfiharcas —
GEEIERID)

@ Fad-eh - st —
W Wb — dimaiRe
LIERIRICY

99 UH HAige wReRer seferaven of

TR S & TE9D AR §, 79 98 —

() Gga difss i sean &

(2) fIwRaE! difes AR Feaw 8

(3 SN DY

@) SWRE F A B TE

3 OR[N T Uh §EN Bl @l 8l die

o, Fifer — -

1) TP FYRe FT TR T B 8

(2) ST TIF HE Bl &

3) T ®R B Age F Ui §

(@) T UTREI 9% TN W A @
wR B wfaRRE T8 9 g
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47. Mental or physical exertion directed to produce ~ 47. ﬂﬁaﬁ 3R Qo & Swed o foy FERa
goods and services is - AR ar smaRe gRem & —
(1) Capital @ i
(2) Land ) "Iﬁ
(3) Labour 3) =M
(4) Entrepreneur @) TR (SR
48. “Economics is the study of how societies use 48, "] o9 HERMI § $O Teaar aReail
scarce resources to produce valuable T ST BN & Tg S Eﬂﬁ(’:ﬁ w7 A=
commodities and distribute them among A @ T QTR w9 & SUST Sngde
different people.” This definition is given by - seferes 21 ue gRvmr feas €17
(1) Adam Smith &J.S. Mill 1 T=A faper g @f'q_ﬂ' fier
(2) Keynes & Pigou (2) @ & U
(3) Marshall & Lewis 3) wRE @ e
(4) Paul. A. Samuelson & William. D. @) i . e 9 faeE S
Nordhaus Aieers
49. What is the full form of FTP? 49. FTP &1 [T M &1 &7
(1) Folder Transfer Policy (1) ieex BRI gl
(2) File Transfer Policy (2) TR SiEwT Ylferi
(3) Folder Transfer Protocol (3) WiceR TN Hletpict
(4) File Transfer Protocol ) DREA TwR NS
50. Consumer surplus is the difference between - 50. ST SIfoR® IR T —
(1) What a consumer is willing to pay and (1) Su¥lT ®&T B 57 B 5TTF §
what he actually pays 3R a1 PG T8 IRT F J4T ©
(2) The price of the purchased good and its ) @ §E TG B P AR IFH
substitute YRR 9% @I B 3
(3) The price elasticity and the actual price (@) @ o v aalie dEd
(4) None of the above @ SR J B T
51. Jeevan Dhara Yojana in Rajasthan is related 51. NIoreere § Siiae SIRT Ao Gl & —
to -
(1) insurance for poor @ T[ﬁa‘[ %ﬂ &
(2) electricity for poor. @ el vy Roel §
(3) health facility 3) are el |
(4) well construction for irrigation @ Riag & fod i & o &
52, Surveys, polls, interviews, Delphi techniques, 52, ¥J&T, U1, ARRPR, STH! qHiD, BIHH
focus group, questionnaires come under - e, e A ... $ sieela A g1
(1) primary quantitative data @) IR G e
(2) primary qualitative data () wrRIRE o oS
(3) secondary quantitative data 3 s Jouem s
(4) secondary qualitative data @ fehas o affes
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53. The Mundell Fleming model has been used to  53.

argue that -

(1) an economy -canmnot simultaneously
maintain a fixed exchange rate, free
capital movement and an independent.
monetary policy

(2) an economy always maintains a
floating exchange rate

{3) aneconomy maintains equilibrium

(4) an economy always maintains a fixed
capital movement and fixed exchange
rate

54. A monopolist is able to ' maximise his profits, 54.

when -
(1) his total cost is minimum
(2) he charges a high price
(3) his average cost is minimum
(4 his marginal cost'is equal to marginal
revenue

55. 'Which one of the foflowi}lg pair is correct? 55,

(1) Kurt Lewin — Humamstlc theory of
learning ~

(2) Thorndike — Connectionism

(3) Maslow — Field theory of learning

(4) Skinner - Theory wof classical
conditioning

56. The formula of median is used to find - 56.

(1) highest frequent value after arranging
the other values in the data set

(2) lowest frequent value after arranging
the other values in the data set

(3) middlemost value after arranging the
other value in the data set in ascending
order or descending order

(4) None of the above

57. The theory of demand for money has been 57.

derived from -
(1) Equation of exchange
(2) Demand deposits
(3) Equation of multiplier
(4) Investment demand

form fovar i & 5 —

(1) U sefaaen to arr Rer fafmg

(2) TF eiger O [ARET ) TR
=T &

(3) TP Ri=Ewen dgert TR VR 8

@ @ efeaen ReR Yol Tem 7 Rex

Ul 8, 99 —

(1) SEHI B AN FRH &

) T SN P o B

3 waﬁaﬂﬂﬁsrrrrawa‘r

4) ST AT FEIG a¥ER 8 dEEg
M &

FrefeiaT # 9 s 3w ag 87

() 2 AfdT — JIRPH S1 FFgaEE
| ]

@) ofifsra — Wi

(3) A& — ARFE BT & Rigr

@) IR — SRR BT YA e

e —

1) 99 Afte IRERAT 9ol WEn B

(2) 99 FH qRERAT B G BT S
G T TG

(3) g9 W BT G B A fHar o
5 g T SRl B SRE
AT RISl HH F GgRerd wed

(4) TR # o BIS TE

HeT I \iT Bl gl egea= famm T § —

(1) fafm & wiewr 9

@) w7 o

() Tors G

@ e A

—
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58. The apex body of the foreign trade in Indiais - 58, ¥R # fac=l =mar @ ¥ wen § -
(1) Reserve Bank of India (1) T Red 99
(2) The State Government Q) T GHR
(3) Exim Bank @ faia e 9o
(4) The Ministry of Commerce @) aiftrn Ay
59, Name the teaching model which trains the 59. o9 fwpr wRem &1 9% Fasg S
learner in purposeful questioning? %Gllallllaiflf 1 SeeEqyl yeT e H ufifda
(1) Advance Organizer Model 1 fm e ufiEE
(2) Inquiry Traning Model (2) Yoamw ufdrerer ufoE
(3) Social Interaction Model (3) MG Iishar ufcm =
(4) Concept Attainmient Model @) U Sudf gimE
60. Non probability sampling are - 60. IR gryEnr dfe @iteE) § —
(1) Stratified sampling 1) WG vk
(2) Convenience sampling (2) gfern ufeas
(3) Random sampling 3) Y=u ulEH
(4) Cluster sampling @) E RO
61. ..........is also known as the Australianmodel. 61. ... Bl sieferast Higa O osd &1
(1) SWAN (1) SWAN
@ IS-LM 2 IS-LM
(3) Indifference curve (3) SNl G
(4) Total product curve @) Pl SUE Gh
62. The effect of increased CRR will bereduced or  62. 921 §5 CRR &T Y9Td &¥ el I &I S
nullified, if - 2, gfe —-
(1) Bank rate is reduced 1) o R BB A AW
(2) Securities are sold in the open market 2 qg;} TR § ufergfaat &1 fasea
(3) SLRis increased (3) SLR ¥ E{f?&' ’
(4) People do not borrow from non- @ o 3R et ¥ SUR T8
banking institutions o
63. A firm encounters its shutdown point, when — 63, T® B¥ IcdIed 9 g &1 AHFAT FRaT 2,
. 9 —
(1) average total cost equals price at the (1) NI FA SRR WK, HAG D A
profit maximising level of output SferaAHRr faTg W
(2) average variable cost equals price at @) Bl
£ 4 2, M BT g W $Ea
the profit maximising level of output 3
(3) average fixed cost equals to price (3 3 RerR AR SRR Bl &, HFd
(4) marginal cost = price @
4) <G AN = S
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64. Deficit budget is - 64, ©IC & golc & —
(1) when expenses exceed revenue (1) 9 &9 IFH ¥ IfF &1
(2) when revenue exceeds expenses (2) N IFH T W AW0F DY
{3) when revenue equals expenses (3) 9 ATH I P §9ER Bl
(4) None of these @ Y HF TE
65. Net National Product at factor price cost is - 65. g TS IART IEF AFG W & —
(1) equal to national income 1) <SHT S B §RER
(2) less than national income 2) I AT | B
(3) more than national income 3) TSN I 9 AW
(4) sometimes less than national income @ NN TS A A 9
66. Which of the following is mot a strategy 66. fr=ifafRew # & BRA wrify s/ 7
identified by Bruner in concept formation? e HEier § 98 ygmE?
(1) Simultaneous scanning (1) GISHISHTE BT
(2) Successive scanning (2) TR T
(3) Conservative focussing (3) Swodied W
(4) Perceptibility @) q?-@ﬁa—ﬁﬁm
67. The CAI technique is based on programmed 67. SIS M W SIIRG SETH & —
nstruction -
(1) Intelligent CAI (1) 9ifEF CAI
(2) Frame based CAI (2) W9 SmIRd CAI
(3) Generative CAI (3) wRfeg CAI
(4) Problem Solving (4) TTEIT GERIE
68. .. is the inefficient distribution of 68. ..., ol 9i9iR H TESI g Aasi B
goods and services in the free market. Jeper TaawoT & |
(1) External benefits Q) 9= aH
(2) Market failure (2) 9ISIR 3Therdr
(3) Equilibrium (3) TG
(4) Free trade 4 WA AR
69. According to Piaget, the second stage of 69. fUFY % IR, HEFIEE BN B gEd!
development is - IR B —
(1) Sensory Motor Stage 1) S ST THE gy
(2) Pre — operational Stage 2) q\é HiehaTcdd aTaee]]
(3) Formal Operational Stage () o <iftharcHes sraRen
(4) Concrete Operational Stage @) T_f HEh TS e
70. The difference between collusive and non- 70. 9Hsial g R—ausiar scnER g 9
collusive oligopoly is due to lack of - % BRU BRT &7
(1) cooperation among firms (1) A 4 gganr
(2) competition among firms 2y wal ¥ yfeamer
(3) degree of monopoly (3) TR o 0
(4) None of the above @ SR A g B a8
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71. Match the following lists — 71. = gRal o1 fas sy —
List-I il |
(1) The measure of spread data about mean (1) AR AEg B AU fewE gU
(2) Simply the difference between the aifeel BT A9
maximum and the minimum value (2) “rieE U9 AET el B AE
(3) The arithmetic mean of the absolute IR
deviations of the observations from a (3) B YIRT B A F Yeroil B FRUE
measure of central tendency feerer @1 qHIoR Aieg
(4) Relative measure of dispersion (4) ST G ATE AT
List-I1 A1
A Coefficient of range A frer e
B Mean deviation B &y fame=
C Range ¢ =R
D  Standard deviation D UHY e
1 2 3 4 1 2 3 4
M D B C A (1 D B C A
2 C A B D 2 C A B D
3 D C B A 3 D C B A
@@ A B C D g A B C D
72.  Which of the following is not an assumptionof ~ 72. =1 # & T7 2ve—SR Hisd & AFUH
Harrod-Domar model? G-I
(1) There is absence of Government (1) RPN BaEY BT MG BT &
interference. . .
2) APC is not equal to MPC. (2) APCT MPC T & &1 &1
(3) The general price level remains (3) WA BT R R e g
constant. @) = ) A Rl T g B
(4) There is no change in interest rates.

73, e is a systematic record of all the 73, . U 2 QIR 99 AR & 91 a
economic transactions between one country afdfes el o g <aRed RafE &1
and the rest of the world.

(1) Balance of Trade (1) SIOR BT Hge

(2) Balance of Transaction ) fafag o1 uages
(3) Budget 3) d3c

(4) Balance of Payments @) YA BT Al

74. ‘When there is inflation due to'increase in costs 74. Td ¢Fld d9¢ S ¥ PG 9§ oY, O S9
of production, then it is - HeEd & —

(1) Demand pull inflation (1) AT o R
(2) Built-in-inflation () e Eref
(3) Cost push inflation (3) NG S HEREI
(4) Galloping inflation @) wRUT W
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75. MV =PQ was given by - 78.
(1) Pigou
(2) Marshall
(3) Fisher
(4) Keynes

76. Natural growth rate is open to objection and  76.
study of non-economic factors neglected in —

(1) Kaldor model

(2) Harrod Domar model
(3) Solow model

(4) Lewis model

77. Quantity theory of money says - 77.
(1) The general price level of goods and
service is inversely proportional to
money supply
(2) The general price level of goods and
services is directly proportional to
money supply
(3) The general price level has no relation
with money supply
(d4) The general price level and demand for
money are proportional but inversely
related
78. A study by Tendulkar Committee in the year 78.
2011-12, mentioned poverty respectively in
rural and urban India, is -
(B 13.7,25.7
() 257,137
(3) 33.8,2009
4) 209,338

79. Anindex whose nodal responsibility is on NITT = 79.
AYOG which measures poverty in education,
health, standard of living and housing quality
with 38 indicators, is -

(1) MPI (Multidimensional Poverty
Index)

(2) HDI (Human Development Index)

(3) EPI (Extreme Poverty Index)

(4) PI (Poverty Index)

51 &1 aRemr Ragia wea & —
(1) MY HET W) gE @ g 9

[CERRICIEE I C Rl

(2) AT ST VR 5T D gRI < e
[T TSR 8

(3) MY PHHT WX 3R GET B Y B
e PIE T T8 8

@) W\ HIE WR T a1 B AT P
e RUda 7 arguios 9=

9§ 2011-12 ¥, Jgerdx WAl & erggd &
IR, WiRd ¥ HAg: YR U wEd & A
fFrfar arquTa o —

(1) 13.7,25.7

(2) 25.7,13.7

(3) 33.8,209

(4) 209,338
I omm Rraer e T 8 98
Tawis @1 6 e, e, sied wR g
AT IO B WIRT 38 Dl H TR
BT AT HIT & —

(1) TAdRS. (Ggemar W wEdis)

(2) TAIIAE. (AT T GHHiD)

(3) SUISTE. R IRIE YHwiD)

@ . (F EwiE)
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80.

81.

82,

83.

84.

85.

If Karl Pearson’s correlation value is r = 0.9,
then it suggests -
(1) a weak and negative relation between
two variables
(2) a strong and positive relation between
the two variables under consideration
(3) a weak and positive relation between
the two variables under consideration
(4) None of the above

Which of the following is incorrect?
(1) GDP at Market Price = GDP at Factor
Cost + Net Indirect Taxes
(2) NNP at Factor Cost = NNP at Market
Price — Indirect Taxes
(3) GNP at Market Price = GDP at Market
Price + Net Factor Income from abroad
(4) None of the above
In order to reduce money supply in the country,
the RBI may -
(1) buy securities in the open market
(2) sell securities in the open market
(3) reduce CRR
(4) reduce bank rate

.................. is based on the assumption that
income is determined by investment through
multiplier.

(1) Kaldor model

(2) Harrod model

(3) Domar model

(4) Hicks Hanson model

The type of unemployment caused by changes
in the business cycle is -

(I) Structural unemployment

(2) Natural unemployment

(3) Frictional unemployment

(4) Cyclical unemployment

Which is the other name that is given to the
average revenue curve?

(1) Utility curve

(2) Demand curve

(3) Marginal cost curve

4) Indifference curve

80.

81.

82.

83.

84.

85.

afe rel U5 TONE BT A9 r=098, o

IE TUT & —

() & = T 90 PHAR D
e

(2) TR =R & T 9= 6 gD
e

3 faRa == & ma HyeR w4
SFITHE T !

@) SWw A F E T8

o 4 9 rera g —

(1) GDPwp = GDPrc+ [Agg smcae o=

(2) NNPrc = NNPw — fagg amcer
B

(3) GNPmp= GDPwp + fd5=i 9 wra
fergrer e

@ T H P T

<% 4 gaT 9ft § 30 2 RBI &% —

(1) el IR § gyl a1 sy

(2 ol IR # ufongfoat &1 sy
(3) CRR ¥ &1

4) dF s d o

........................... T AT W) OIEIRG § P
3T BT FERoT ot & Arm| ¥ A g
BT B

(1) Hosr HAlea

(2) s Hfsd

(3) SR Hisd :

@) e e~ Hisd

AR %56 RGO & PR FH UbR @)
RIS BT 87

(1) TEATHS RS

(2) WRPpRIS RISFRY

() URREES RSy

@ T R

fr=ifeiRaT # & PiF—T ST omH 9% BT
TERT M 87

(1) STAREr 9%

(2) T 9%

(3) I AN g

4) Tl g
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86.

87.

88.

89.

90.

91.

In 2020-21, in which crops Rajasthan got first ~ 86.
rank among large producers?
(1) Coarse cereals, rapeseed, mustard,
total oilseeds
(2) Wheat, mustard, rapeseed
(3) Pulse, soybean, wheat
(4) Soybean, pulse, wheat, rice
Highest fall in the sex ratio in 2011 among 87.
0-6 years age group children among following
districts are -
(1) Dungarpur, Jaipur, Sikar, Rajsamand,
Tonk
(2) Ganganagar,
Dausa, Udaipur
(3) Kota, Baran, Bundi, Sawai Madhopur,
Tonk
(4) Udaipur, Banswara,
Sirohi, Ajmer

Karauli, Bharatpur,

Dungarpur,

What was population growth rate in Rajasthan ~ 88.
during 2001-2011?

M 213%

2) 25.21%

3 2841%

@ 2241%
The external cost others pay as a result of our  89.
consumption is referred to as a -

(1) positive consumption externality

(2) negative consumption externality

(3) positive production externality

(4) negative production externality

An investment made by a firm or individual in ~ 90.
one country into business interests located in
another country -

(1) Export

(2) Import

(3) FDI (Foreign Direct Investment)

(4) Investment

3
Which of the following district has highest 91.
percentage decade growth rate of population
2001-2011?
(1) Barmer
(2) Ganganagar
(3) Chuma
4) Alwar

2020-21 %, 9 S A oreend ° 59
BEd ¥ yod I Ui e

(1) Her I, YOS, SR, G [Res
(2) T, O, e

(3) T, HEEE, g

@ 9aEF, e, 18, F9Ed

2011 ¥ =1 ftem g 9 0—6 ¥ & =il

# formepura # siffiean PR sm —

(1) TRE, AR, AR, Worrs, <o

(2) TR, SRIH, ARAYR, S, SEaqR

(3) Brel, AR, 49, waE AR, TN

@) SER, TEaE, FRE, [RE,
AT

IO § 2001 ¥ 2011 & He O EEIT B
Jig o W@ —

@ 21.3%

(2) 2521%

3 28.41%

@ 2241%

TR ST ¥ Sl 918l QNG §ER A
(1) & SN Sl

(2) FOTHS SUIANT STEr

(3) ©FHG SIg dreIdl

4) ZRUIYS ST S

e & v BH 9T Afdg gRT o fae
29 ¥ wuR ¥ Bfy g & S &, SEenr
3

1 ekl )

) IEa

() TwhSrens. (e gl aw)
@) faa=

frefafag & 9 o9 ¥ R 31 s
ST i 9% (2001-2011) i 87

1) TSR
@ MR
3 =L

4) SR

11- &
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92. The twin condition for equilibium in a 92. TFIRFR IGR F Ao &g B & —
monopoly market is~ (1) MC=MR, MC T, MR 9 & =12l
(1) MC=MR, MC cuarve cuts MR cuarve g B
from below (2) MC>MR, MC @5, MR & &I 919
(2) MC>MR, MC curve cuts MR curve Jq I
from below (3) MC<MR, MC %5, MR 9 T ST
3) MC<MR, MC curve cuts MR curve J PR
from above
4 =
(4). MC=MR, MC curve -cuts MR curve @ ;{I(;g[R, MC %P, MR 5 31 &
from above
93. Which of this iS not the focal areas of 93. {7 ¥ B9 a1 Bry MRTE o o< &=
Educational Psychology? & 87
(1) 'The learning status 1) EE B Red
(2) The learning situation 2 brE= P Ry
(3) The learning process 3 e= P ulpar
(4) The learner @) I T
94. Identify the items which is not a factor 94. =7 %l § & ORE Yram & & —
payment? 1) I A F ol Fees vam B
(1) free uniform to Defence personnel LiE)
(2) salaries to the Members of Parliament (2) ES! BT I9a
(3) imputed rent of an owner occupied (3 AFM Wi R ARG f=mm
building W B FHM W
(4) scholarship given to thé students @ ek @ BIEIRT TS HRAT
- LY .
95. M money includes- | 95. M:TwT ¥ WA ¥ -
(1) Currencies, demand deposits, post (1) SR g 1967 ST, S BR g9 SHIY
office savings deposits o o R w
(2) Bonds, government séquﬁties 2) q _
(3) Equity shares + Total post office (3 sEE TR + THER B Fa Y
deposits’ * ) : :
i . 4 SICICRELIN
(4) Time deposits of banks . @ <t @
96. "Why Rajasthan lately being considered largest 96, &5%hd ] GREPHPT ¥ URIF Fa& ST
state ‘area wise? ’ Y AFL ST @, R —
(1) Due to partition of Bihar () fErR v & e em @
(2) Due to partition of Madhya Pradesh 2) YYD fvad 89 9
(3) Due to partition of U.P.. 3) SR T Maaan 9
(4) None of these ‘ @ T P S
97. The purpose to promote financial $fability and  97. 3 SRwdi & WRT i i vd anffe
economic growth amofig -other objectives is giEg 1 UAIRd % BT 959 § —
of - T
(1) UN.O. » (1 JTHS (UN.O.)
(2) IMF o : (2) STETATE. (IMF)
(3) WTO ) () s (WTO)
@) GATT @ <wIedd (GATT)
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98. The three central problems of an economy 98.

are -
(1) What to produce, when to produce,

which to produce

(2) Which to produce, how to produce,
who to produce

(3) What to produce, how to produce,
whom to produce

(4) When to produce, who to produce,

where to produce

aﬁmawaﬂﬁaﬁuﬂmﬁ%—

¢ wwﬁﬁﬁmm Hq e
o W1, PN ST fhar Wiy

@ PF-a ST fFo WY, 9
Sred far sy, e w1 SarEs
o @ig

() w1 Swned fhar S, $9 SwRd
e o, e fom swres &
il

4) P9 Swed P W, B #w
Sogq fbar @iTg, el Sa@re fear
1

99, Who wrote the book “Problem of Capital 99. “WigeW oifs dfica wFEE w9
Formation in Under-developed Countries”? ISR FALI I fpaer fo?
(1) Ragnar Nurkse 1) TR THH
(2) Adam Smith 2 veq Ry
(3) Ricardo @3) Raret
(4) Schumpeter @ TR
100. Which of the following is not a part of system 100. Fr=ifeiRad # & BT YTl SURTH T 99T
approach? ERR-Te
(1) Training Psychology (1) wfRwEer FfasT
(2) Cybernetics Q) TEIAlew
(3) Hardware (3) TERR
(4) System Analysis @ oIl R
101. With a given state of technology if the quantity 101, 3 7¥ CFraion 4 I TG & (b ARM
of, one factor input is increased by equal # g9 gfg &1 AR § T o SHREl @l
increments, the quantities of the other factor AE-ReR <8 o/ 2, o Saured § g@v
inputs remaining fixed, then the resulting yReT ¥ 2l fhR SETes ues o SR,
increment in total product will first increase but T PET E —
decrease after a period of time, this is called - @ R D wRied
(1) Returns to scale @ Y B Rer wRwer
(2) Constant returns to scale et TR §
(3) Law of variable proportions (i) Yury & o & o T;I;mq
(4) Increasing returns to scale @
102. Which of the following is not a characteristic 102. 7/ # & TSRS SR TR BT
of monopolistic competition? T qE B —
(1) Ease of entry of firm into the industry (1) HH BT SENT A A AR
(2) Product differentiation @ g e
(3) Relatively large number of sellers @3) BF\IETI'@'H 3IRRF Tt
(4) Homogeneous products @) AR SRS
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103. 1In the long run a competitive firm has optimum  103.

allocation of resources, which means -
(1) LARSLMR>P>LMC>LAC
(2) LAR=LMR=P=I.MC=LAC

SEiETd 9 b uRrErlt B @ el @
FJeReIa 3G &, gaeT 3l § —

(1) LAR>SLMR>P>LMC>LAC

(2) LAR=LMR=P=LMC=LAC

(3) LAR<LAC (3) LAR<LAC
4 LMC<LAC (4) LMC<LAC
104. Economic development means - 104. nRiF fawrT &r el —
(1) economic growth 1) ki gig
(2) only increase in GNP (2) %ad GNP ¥ gfg
(3) economic growth plus progressive () RiF g v wifadia wRad oo
changes in certain important variables A qeaam =i o B @t @
which determine well being of people @ 4 Y9 BN 3 TRags ¥
(4) only increase in per Capital income @) e R o ¥ gty
105. Balance of Trade is related to - 105. MR e ST § —
(1) transport services 1) I 9
(2) insurance (2) 4
(3) imports and exports of goods (3) TRl o1 s 19 kg
(4) banking @ I
106. In a market, transactions are statutorily 106. U IR fored e e & e )
regulated so as to put an end to unfair practices. f=or &1 SO o 9l @Y R o
Such markets may be established for specific P | W IR B RIeEr {99y S g9
products or a group of products eg. stock IET & T O TP oS $ ol
exchange, is known as - B 2 3 FEam & —
(1) wholesale market 1) =P TR
(2) irregulated market @ FEfd TR
(3) very short period market 3) T SETPIRF ToIR
(4) regulated market @ fRfEfG e
107. The term .......... . refers to a sequential order 107. TF FiR¥=™ s & & W & =@ @1
of values of a variable known as a trend at equal e w0 3 W ermaRTel Y waRy & @,
intervals. ] % 11 STTT # ofrgr o B
(1) time series analysis IR UiRCESLL
(2) smoothing techniques Q) HRE qNE
(3) Dbarometric methods 3) ﬁ?’lﬁﬁiﬁ Rifer
(4) surveys @) TFeror
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108. Match the following — 108. M &= — .

6] Trade cycie .(A) a phase when
business is at
lowest ebb

(ii) Depression (B) regular
fluctnations in
the level of
Nation income

(iii) Recovery (C) is also known
as expansion

(iv) Boom » a large
expansion  of
production and
trade

@ ) @)  3Gv)
1) B A C D
2 A B C D
3 C A B D
@ D C A B
109. Dual sector growth model is popularly known 109.
as -
(1) Marshatlian
(2) Keynesian
(3) Lewis
(4) Rostow
110. ............. is an economic state where 110.
resources cannot be reallocated to make one
individual better off without making at least
one individual worse off.
(1) Balanced growth
(2) Pareto optimality
(3) Unbalanced growth
(4 IS-LM concept

111. RUDA has obtained Geographical Indication 111.

(GI) registration for crafts under its intellectual
property rights inititative. Which craft is NOT
included in GI?

(1) Jodhpuri juti

(2) Kota Doria

(3) Bagru Hand Block

(4) Blue pottery

() ®@URWF  (A) We SR

o wR®
W E
Gi) AL (B) wrig amg
fRae sa—
(i) Repad © faw l
([GToER) PHETT B
Gv) A (@S (D) TH IS A=
# SR wd
TR

G G) [ Gv)
M B A C D

2 A B C D

3 C A B D

@ D c A B
2oy R died Wi T ST § —

(1) FrEifeas

2 TR

(3) w©E

4) e

................. g g oniie Refg 8 forad
\EAT B gAiaed UF Al BT Joart
UEAIT TR IR AR BT g B D 1
EERCRIRSIGES I

1) wglea gie

(2) ORET S

(3) sragfer gl

@) IS-LM =raeson

difge IR AfmaT Usd B d8d weT o
Rrer & foag Smiftie doae doliever
frar 21 @9 9 Rea 9 GI wr =8 fbar
g7

(1) g S

(2) el RT

(3) 9N BUE wilh

@ = U i
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112. The Flagship Schemes introduced by DLB of 112.
Rajasthan are -
(1) Indira Rasoi Scheme, Indira Gandhi
Urban Credit Card Scheme
(2) Palanhar and Uddan -
(3) Kali Bai Bheel Yojana
(4) Ghar-Ghar Aushadhi Scheme

113. Which of the following is correct for elements 113.
of teaching model?
(1) Focus, Syntax, Social System, Support
System
(2) Syntax, Social System, Support
System, Transformation
(3 Focus, Social System, Transformation,
Application
(4) Application, Transformation, Focus,
Syntax
114. The index that depicts the value of country’s 114.
total exports minus total imports and ratio
calculated by dividing the price of the exports
by the price of the imports and muitiplying the
result by hundred is -
) (1) MRTS
(2) Terms of Trade
3) MRS
(4) Foreign exchange rate
115, ... was created to emphasize that 115.
people and their capabilities should be the
ultimate criteria for assessing the development
of a country not economic growth alone.
(1) Poverty index
(2) Happiness index
(3) (HDI) Human Development Index
(4 (MPI) Multidimensional  Poverty
Index

TR GoF o @ IoRE @ e
e W grRT 9’ @l ¥ § —
1) 3w wE I, gy T aeh
e (sbfee) B8 WM
(2) UIGHER 9 IS
(3) el Wiel Ao
@ TR weh o
FrfaRaT & 9 s Rer ufoms @ o
% forr ud &7
(1) o= g = s gomen,
S CEER LI
(2) TEA, NG YUIell,  Thed
JOITAl, HUTROT
() o= fag, amiore yomel, U,
SERIL
@) STFI, HURRY, T 95, @

98 Edie AeT aFed W 3 g
Faa—ge smm o o & o
WM P BET BT U TET 100 TS
febar i €, 98 PEeEr € -

(1) THIRZELTE. (MRTS)

(2) = ER I

(3) TIIRTH. (MRS)

@ i it =
................. qAdiD Giota fhar T o faer
DI GG &Y AR DT SRl BT AlIEvs 9
SR A o Iaege € UEndHa ThHS
i gfg & |

) T gESiE

@) TGUER! gEes @ §8996)

(3 W e gaFHis (HDI)

4) gg3ar TNl gEwie (MPI)
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116. Hicks separated the substitution effect and the 116. T 3 URRLUT WG T & WE HI

income effect from the price effect through - PG TG Y YIS S9N e —
(1) increase in demand of good 1) & @ qT ¥ &
(2) increasing the real income (2) IIRE o H afE
(3) compensating variation in monetary @) afge wRedw d@RkE g
income ;vith (keeping the real income (AR 3T B ReR v )
constant . ; .
(4) no change in either monetary or real @ difiw QEI. wr F P
income Rt et
117. Danjel Goleman is related to - 117. <Fua e et § —
(1) Learning 1) =fers
(2) Intelligence 2 &9
(3) Emotional Intelligence (3) HETEE gg |
(4) Motivation @) SR 9§
118. Disinvestment of public sector unit comes 118. WHSM® &3 sHEA # faFaer &9 # amar
under - &7
(1) privatisation 1) fAshesor
(2) globalisation (2) FEHEIT
(3) urbanisation 3) ESHRU
(4) None of the above @) SRE F PSS A8
119. Money in traditional sense - 119. UR™RE 90 § qoT —
(1) only serves as a medium of exchange (1) Do T & a9 & 99§ 2@
(2) only serves as a store of value Aﬁt )
(3) serves as both medium of exchange (2) I T DT WED B & )
' (3) Tl &1 aras 9 qed b1 GReH
and store of value o &
(4) serves. neither as medium of exchange @ = & o 9w a1 § g
nor store of value TP BT B
120. Who is the custodian of monetary reserves in 120, FifS® ST BT H&H DI 37
India?
(1) SBI 1) TEHaE. |
(2) SIDBI 2) foed
(3) NABARD (@) e
4) RBI @) STdlans.
121. The acceleration coefficient is the ratio 121, WR® UM & — !
between -
(1) induced investments to a net change in 1) IRT PR vd ST =g § ﬁ{],?a'
the consumption expenditure TR ‘
(2) induced savings to a net change in ] _
govt. expenditure 2 ‘}ﬁav"ﬁ?‘f W WER 2R H gRec
(3 induced savings to a net change in 3) Ra s=a vd uRa e
induced investment @ B A TS

(4) None of the above
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122.

The welfare of the people is not necessarily

captured with per capita income, because -

oy
2
3)
@)

123.

Which of the following are not the tools of

the quality of work conditions matters
the education ievel matters

health benefits matters

All of the above

monetary policy?

1)
@)
&)
@

124.

....... tells what the increase in the level of

Repo rate
Open market operation
Selective credit control

Taxes

equilibrium income would be for a unit

increase in autonomous spending.

@)
)
3)
@

125.

-------------

Accelerator
Inflation
Multiplier

Phillips curve

refers to the effects of scale

relationships and is a long seen analysis of

production.

)
@)
3
@

126. Average revenue is the revenue earned -

)
@
3
@

Law of diminishing returns
Law of production
Isoquant curve analysis

Returns to scale

per unit of input
per unit of sales |
different units of input

different units of output

122.

123.

124.

125.

126.

MRS HeamoT FTS wI ¥ Ufaeafdd am
7 g & oxan, H®ife —

(1) o™ F IO FT AT BT &

2) Rer$ wR

(3) W= M

@ Swgw wdr

=1 4 ¥ a9 w1 At iR o1 Suwwer
=8l 87

@ W

2) Gl IR B Ay

3) TING " I

4 =X

Ui SHE @R &9 ¥ glg & RO B
1

1) <Re

(2) g

3 TiE

@) Tfor=y o

...................... TE qEHEGM B SURd B
fareeryor wd M & Ul @ TRl 9w
Tl B

(1) TEAE gRee BT FeH

(2) <oeq @ fuH

(3) 9IS T fqgeryor

@) N & gRea

i S, aifie sme § —

@ g @ e e

() & & ufty sorE

(3) = & = seEdr

4) <wEes o = seEar

11- @

Page 26 of 32




127. Which one of the following factor is bartier to  127. T=faifeg & & o FR@ aifas Ham
verbal class-room communication? AR § S 37 '
(1) Use of simple language & symbols (1) RO 99T & Wbl BT 9anT
(2) Unclear graphics and symbols (2) U= YIftheT Td WD
(3) Use different resources & methods (3) TR darEi vg Rl &1
(4) Use less Verbalism @ T IREIRECARLIL!
128. Which is not an example of cooperative 128. ST ¥ ®IF O WEAFIEH SARFH &
learning? TEIET 8] &7
(1) Problem based learning (1) I957 JIRARa Siferm
(2) Think - pair share 2) Rie—UER IR
(3) Jigsaw @) Rrrf
(4) Project based learning (@) UG SR SRR
129, ... away of summarising the datainthe  129.  oreeerrereen sitmel. B faRre a1 ufafe
form of a typical of representative value. qed B HI H TN B BT UH 4D B
(1) Measures of savings (1) =9 & 996
(2) Measuring of multiplier (2) TOTH HT AAE
(3) Measuring of accelerator () TRE FT UG
(4) Measures of central tendency @ T T—rﬁﬂ%f & 9%
130. High power money is produced by — 130. ¥ wfe go1 e g1 Sanfeg @1 o
&
(1) Central Bank @ »=g JF .
(2) Central Bank + Government of India (2) S 9P T 9RT TWPR
(3) Central Bank + Commercial Bank @) DN §5 7 TR 6
(4) None of the above @) SRS I Y PR @ T
131. According to Havighurst, which is not the 131. BfRE & IHR, BEiRmEwRn & GRS
development task of Adolescence? HRT =T T8 87
(1) Accept the physical body/structure and @) ifeF R/ TR B WER B
keep it healthy U9 TR 91 AT
(2) Become socially responsible 2) TR B | REER T
(3) Become more happy and healthy 3) ?gET“Sﬂ? Gy @
(4) Prepare for job and career ) " S Rk BRI @ S B
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132. To promote fair trade between nations, is the 132. A= Qe & w0 <EPT =R H¥
goal of - Hicalfed T 9oy ¥ —
(1) WTO (1) ST (WTO)
(2) World Bank 2 fw i
3) IMF (3) SEYEYE. (IMF)
(4) WHO @) STYTIL. (WHO)
133. Mode of the values 1,2, 3,4, 4, 5is — 133. = SRl @1 9ga® 9 B —
1,2,3,4,4,5
a 19 » 19
2 3 @2 3
3 1 3 1
@ 4 @ 4
134, ... is the integration of the real and 134, ............ qIg® 9 Aifge 9NNl @1
money markets. THIDHIT & |
(1) Pareto coefficient 1 Rer TUTip
(2) Pareto efficient point () W g g
(3) IS-LM by Hicks Hansen (3) o 9 sRIIS-LM
(4) IS-LM by Marshal Pigou @) wrefer O gRT IS-LM
135. When inflation beyond an acceptable level 135, g FGRWIA BT &R U6 WHR ®R I
takes place, the country’s Central Bank - AE B W R, W D §B —
(1) decreases the bank rate 1 deRuersdr g
(2) increases the bank rate 2 ST qEred e
(3) does not change bank rate @) o = F PE gRadT T B
(4) increases investment @ FRwTer 3
136. Toreduce poverty through financial assistance, 136. fRNT T & AEgH | TN BT BF B
is the goal of - BT 9L & —
(1 WTO (1) s=gial (WTO)
(2) ICICE 2) SEAaME ST, (ICICD)
(3) World Bank 3 fw s
@ WHO o @ sgTES. (WHO)
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137. When an oligopolist. individually chooses its 137. W& Tk ICUIHRI SREG O o9
level of production to maximise its profits, it ARpad H P R T T DR BT
charges a price, that is - TG PRl g, G 98 SEd ol 8, S —

(1) more than the price charged by either D) IR B & velerR @ gof
monopoly or a competitive market afrantt & W W

(2) less than the price charged by either R 4
monopoly or a.competitive market * o (@) ¥ BN T THRHR A Tf ey

(3) same price charged by a competitive o BTG TN W :
market (3 wfErl SR & |9 S

(4) less than the price charged by a @) TR TER ¥ B4 =7 i
monopoly and mor.e- than the price R .
charged by a competitive market 1 g0

138. e .is working closely with the rest of the  138.  <TISTl & & fare = hipy giedioT @
“World Bank group to formulate an integrated foeg 4% W @ 91 g R X @
approach to private sector development. T —

(1) SAARC (1) I (SAARC)

(2) WTO 2) SN (WTO)

(3) MIGA (3) AT, MIGA) LE
) IMF @ ommETE MP)

139. Kaldor postulates - 139. ddSR AT & — :

(1) the technical progress function which (1) TGS Wiy Bere o & SaEdar
shows a relationship between the T ool aﬂ-_\jgﬁe{hﬁ TR A GgE
growth of capital and productivity U = NIV NN S
incorporating the influence of both the e 3, Gﬁr,ﬁﬁ _ﬂ:ﬁ o m @
factors AT BT WA BT § i

(2) the income growth and population (2) a9 B g T ST D gfE
growth 3) faw iy

(3) investment growth @ T E[f?a' . s

(4) savings growth £ 1

140. When a monopolist divides consumers into 140. 9 e THIRHR AN BT SU—ITRI
separate submarkets and charges different Y favad ovar & g - o et
prices in different submarkets, it is known as - 2, 1 I8 PEanaT B =

(1) First degree of price discrimination M v Rl awg fade

(2) Second degree of price discrimination @ = Rl g fg

(3) Third degree of price discrimination @ T e e

(4) None of the above @) SRE T P G A ¢

11- & Page 29 of 32




141. A purely competitive firm’s supply schedulé in  141.
the short run is determined by -
(1) Average revenue curve
(2) Total Revenue curve
(3) Marginal Utility curve for money
(4) Marginal Cost curve L

142. If r is correlation coefficient, xi, yi are two 142.
variables, X and ¥ are arithmetic mean of xj, y;
variables, then -

QA r=2&x-DGE-N/ZFG-F
xi-X) sl
@ r=2 &x-X) - §)/
VE@G -2 X Gi—9)?
@ r=EG&i-y) E-P/E@-y T
E—9?
@D r=2 x -—w (x— §) [/
VEG —¥1)? X% —§)?
143. National income differs from Net National 143.
Product at market price by the amount of -

(1) current transfers from the rest of the
world -

(2) net indirect taxes
(3) national debt interest
(4) they do not differ

144. A child wants to go to disco with friends butis  144.
afraid of being scolded by parents. This type of
conflict is called -

(1) Approach — Approach Conflict
(2) Approach — Avoidance Conflict
(3) Avoidance — Avoidance Conflict
{4) None of the above

145. The goods that are non-excludable and non- 145.
rival are -
(1) private goods
(2) public goods
(3) consumer goods
(4) perishable goods

Sreusrel W fHuiRa gar & —

(1) 3iEd & 9% 9

(2) H& ANH 95

3) o1 @ fog draea suaifar 9% 9

@) T AN 95 9

Il r FEHRERT ONE TAT x;, vi &1 =W & 3R

X, yi IR BT HHFGR WRG X 9T ¥ B,

¥ g

@D r=2x-DFG-N/ZFH~-
xi-X)

@ r=X&~- %) @yWm-—- §)/
\/Z(Xi—i)ZZ'(Yi“S—’)Z

@) = -y E—7) /X (xi— i)
ZE-9)?

@ r=X &~ w (X-5) /
VE@ -y X (X —9)?

A Ed g e 9 —

(1) AT IOR ¥ T, TR

@) fge s B

(3 T FEO

@ T PN IR T §

U g7 A= i B arer fEwpT SiFT Tigar

2 uR=g ey & A U B sic S s @

2| U8 Fu uoR 97 99d /oFadE 27

() SUNM — SUTM <TEg

(2) TSI — IRER I<ET

(3) URER — URER sFiEs

@) SR F W Bg TE

I—afRspa qen R—uliEd awgd § -

(1) el o

(2 UENNE TRY

(3) SN TEEY

@) T o= (@< B aeh)
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146. When other things remain same, law of supply  146.

g &1 e wEar 2, & o= 9d wAe

states that - T W —
(1) quantity supplied decreases with 1 ¥=r A 3;111% T & gy D RS
increase in price and increases with HH T & FAT AT SR I 9
decrease in price. 9 9 92 9l S
(2) quantity supplied increases with ) 3Trqﬁ’r & qET BEg o gfE & e
increase in price and decreases with et £ sl BT § T B Ry T
decrease in price. an‘d’r 2
(3) quantity supplied remains constant ; .
with increase or decrease in price. (3) P P Sper g ¥ St B
(4) quantity supplied remains constant AT e el %\.l
with increase in price and decreases @ e'“qﬁ @A H B e e
with decrease in price. ST & |
147. The three components of fiscal policy are - 147. TSN AT $ U9 9Ed & —
(1) Government investment, public (1) RGN 9w, adee Ta9d, facel
savings, Foreign exchange IGIBG
(2) Demand deposits, public debt, (2) I SHER, AEGE H0, WREN
Government receipts TRt
(3) Government expenditure, public debt, () T T, LT S, WRER
Government receipts aifat
(4) Public debt, Government receipts, @) AT W, weer wiaE
Foreign exchange Areh Rf ' ’
148. Who manages exchange rate of our national 148. WY &1 &7 fAfg <) @1 e fas
currency? ERT e wiram 27
(1) Central Bank (1) »=hg §o
(2) Commercial Bank (2) IOR® &
(3) Central Bank and Commercial Bank (3) &= ¥ 9 AuRe 6
(4) None of the above @) SN d Y B 98
149. An economic system in which all the means of 149. 27ff& YuIell fore¥ Saured & e i
production are owned and controlled by private il & Wit § wd FEgo § g
individuals - T
(1) Mixed economy (1) TP sl
(2) Capitalist economy 2 W sefarRer
(3) Communist economy (3) rIATd) arefaraven
(4) Socialist economy @)  FASTETE) e
150. In new welfare economics, capability approach 150, AT e RIS H & T gREHIOT 6T
is associated with the economist - eer 31 el ¥ E —
(1) Raghu Ram Rajan (1) ERM TS
(2) Arvind Pangariya (2) Srfd=s gTfear
(3) Amartya Sen 3) o A
11- § Page 31 of 32




Space for Rough Work /Y% &1 & o wvis

11- §

Page 32 of 32




